EE368 , Assignment 2 (Solution)

Q 1. The advantage of this alternative method is that it saves the extra expense of shifting
the elements of the queue each time the remove operation is called. Instead, the shift
only occurs when the original allotted space runs out - only when it s needed. Therefore,

one large shift is performed at one time to provide extra space, rather than numerous
small shifts.

The disadvantage of this method is that program execution is temporarily halted to take
care of the mnternal shifiing.

A N e
= M‘ 52;421& ”L€7 . -~ «Zﬁ%m:
IV /SVE /%”7‘#”7‘%’/‘”% )

—

£
T

-
Cet sfotwa AI’P






